MIAMI-DADE COUNTY, FLORIDA
MIAMIDADE : METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901 FAX (305) 375-2908

NOTICE OF ACCEPT ANCE (NO A) www.buildingcodeonline.com

Eastern Metal Supply, Inc. '

4268 Westroads Dr.

West Palm Beach, Florida 33407

Scorg:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AH]J (in areas other than Miami Dade County) reserve the right to
~ have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.050” Solid Bertha Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 05-078, titled « 0.050” Bertha Aluminum Storm Panel”, sheets 1
through 15 of 15, and 1A of 15, prepared by Tilteco, Inc., dated 04/28/2005, last revision #1 dated 04/28/2005,
signed and sealed by Walter A. Tillit Jr., P.E. on 09/ 15/2005, bearing Miami-Dade County Product Control revision
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Division.

MISSILE IMPACT RATING:  Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 03-0707.02 and consists of this page 1, evidence submitted pages E-1,E-2,and E-3

as well as approval document mentioned above.

- The submitted documentation,was reviewed by Helmy A. Makar, P.E.

)4 NOA No 05-0926.03
Expiration Date: 08/07/2008

Approval Date: 07/13/2006
07/’3/1,006 Pagel




Eastern Metal Supply, Inc.

>

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #96-1203.08

DRAWINGS

1. Drawing Number 96-331, Eastern Metal Supply, Inc., 0.050" Bertha Storm Panel,
sheets 1 through 8 of 8, prepared by Tilteco, Inc., revision 2, dated 07/15/97 signed
and sealed by Walter A. Tillit Jr., P.E.

TESTS

1. Test report on Large M issile Impact Test, Cyclic Wind Pressure Test and Uniform
Static Air Pressure Test on 0.050" aluminum storm panels, prepared by
American Test Lab of South F lorida, Test Report No. ATL #1022.01 -96 dated
11/08/96, signed and sealed by William R. Mehner, P.E.

CALCULATIONS

1. Comparative Analysis and Anchor Analysis, dated 10/21/96, pages 1 through 15,
prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E.

2. Calculations for revised anchor schedule, dated 05/02/97, pages 1 through 33,
prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E.

MATERIAL CERTIFICATIONS
1. Mill Certified Inspection Report of coils, dated 01/23/96, for Aluminum Alloy 5052-H32
by Barmet Aluminum Corporation with chemical composition and physical properties.
2. Certified Tensile Test Report by Certified Testing Laboratories Report No. CTL
#846B dated 10/31/96, for Aluminum Alloy, signed and sealed by Ramesh Patel, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #98-0817.16

DRAWINGS

1. Drawing No. 98-172, titled “0.050” Bertha Storm Panel”, prepared by Tilteco, Inc.,
dated July 7, 1998, last revision #1 dated July 7, 1998, sheets 1 through 8 of 8, signed
and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. None.

CALCULATIONS
1. None. o

MATERIAL CERTIFICATIONS
1. Mill Certified Test Report issued by Nichols Aluminum dated 05/28/98, with chemical
composition and mechanical properties of the 3004-H34 Aluminum Alloy panel.

Helmy A. Makar, P. E.
Product Control Examiner
NOA No 05-0926.03
Expiration Date: 08/07/2008
Approval Date: 07/13/2006



Eastern Metal Supply, Inc.

3.

B.

C.

> P

NOTICE OF ACCEPTANCE: _ EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-0602.04

DRAWINGS
1. None.

TESTS
1. None.

CALCULATIONS
1.  None.

MATERIAL CERTIFICATIONS
1.  None.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #01-0516.06

DRAWINGS

1. Drawing No. 01-058, titled “ 0.050” Solid Bertha Aluminum Storm Panel”, sheets 1 through

15 of 15, prepared by Tilteco, Inc., dated August 27, 2001, signed and sealed by Walter A.
Tillit Jr., P.E.

TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, per SFBC PA 202-94
2) Large Missile Impact Test per SFBC, PA 201-94
3) Cyclic Wind Pressure Loading per SFBC, PA 203-94
along with marked-up drawings and installation diagram of 0.050” Solid
Aluminum Storm Panels Shutter, prepared by ATL of South Florida, Test Report
No. 0221.01-01, dated 05/02/01, signed and sealed by Henry Hattem, P.E.
2. Addendum to ATL of South Florida, Test Report No. 0221.01-01, dated 10/12/01,
signed and sealed by Henry Hattem, P.E.
3. Addendum to ATL of South Florida, Test Report No. 0221.01-01, dated 02/04/02,
signed and sealed by Henry Hattem, P.E.

CALCULATIONS
1. Anchor Analysis, dated 09/10/01, pages 1 through 53, prepared by Tilteco, Inc.,
signed and sealed by Walter A. Tillit Jr., P.E.

MATERIAL CERTIFICATIONS

1. Mill Certified Inspection Report of coils, dated 04/24/01, for Aluminum Alloy 3004

-H34 by NA Nichols Aluminum with chemical composition and physical properties.

2. Certified Tensile Test Report by QC Metallurgical, Inc., Report No. ICM-384,

dated 03/26/01, signed and sealed by frank Grate, P.E.

koo A ot

Helmy A. Makar, P. E.
roduct Control Examiner
NOA No 05-0926.03
Expiration Date: 08/07/2008
Approval Date: 07/13/2006



Eastern Metal Supply, Inc.

5.
A.

> o

NOT ICE OF ACCEPTANCE: _ EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 03-0707.02
DRAWINGS
Drawing No. 03-141, titled “ 0.050” Solid Bertha Aluminum Storm Panel”, sheets 1 through
15 of 15, prepared by Tilteco, Inc., dated July 02, 2003, last revision #1 dated July 02, 2003,
signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1 None.

CALCULATIONS
L None.

MATERIAL CERTIFICATIONS
1. None.

OTHERS

1. Letter from Tilteco, Inc., dated July 03, 2003, signed and sealed by Walter A. Tillit Jr.,
P.E., stating that the only change from the previous approved drawing # 01-058 are
the general notes #1 & #11 to reference the Florida Building Code and the ASCE 7-98

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 05-073, titled “ 0.030” Thick Galvanized Bertha Steel Storm Panel”, sheets
1 through 9 of 9, and 1A of 9, prepared by Tilteco, Inc., dated 04/25/2005, last revision
#1 dated 04/25/2005 signed and sealed by Walter A. Tillit Jr., P.E. on 09/15/2005

TESTS

1. Test report on Large Missile Impact Test and Cyclic Wind Pressure Test of Galvanized
Steel Storm Panels, prepared by American Test Lab of South Florida, Report No. ATLSF
0616.01-05, dated September 15, 2005, signed and sealed by William R. Mehner, P.E.

CALCULATIONS
1. Storm panel shutter Calculations, sheets 1 through 91 by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E. on 09/13/2005.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. Tensile Test Report from QC Metallurgical, Inc., Job No. 51M-926, dated September
20, 2005, tested per ASTM E8-93, signed and sealed by Frank Grate, P.E.

?/U&-;///(//\/

HelmyA Makar, P. E.
Product Control Examiner

- .NOA No 05-0926.03
Expiration Date: 08/07/2008
~ Approval Date: 07/13/2006




GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE
2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE, FOR A BASIC WIND SPEED AS
REQUIRED BY THE JURISDICTION WHERE STORM PANEL WILL BE INSTALLED, AND FOR A DIRECTIONALITY FACTOR Kd=0.85, IN ACCORDANCE
WITH ASCE 7-88 STANDARD. IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER

STRESSED, A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60
WAS USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM FANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED.IN ACCORDANCE WITH SECTION 1609.1.4 OF THE
ABOVE MENTIONED CODE AS PER ATL REPORTS # 1022.01-01, # 0221.01 AND # 0616.02-05, AS PROTOCOLS TAS~201, TAS-202 AND
TAS-203.

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 OR 3004—H34 ALLOY.
3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018
W/ 50 ksi YIELD STRENGTH AND S0 ksi TENSILE STRENGTH.

5. BOLTS TO BE ASTM A—~307 GALVANIZED STEEL OR AIS! 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE:
~ 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX. (REGULAR OR 410 S.S.)
= 1/4" @ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
— 1/4" @ CF TAP—GRIP ANCHORS (BERTHA STUD~CON), AS MANUFACTURED BY TRU~FAST CORPORATION.
~ 1/4" @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
~ 1/4" @ x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE" AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCO TEXTRON, RESPECTIVELY.
1/4" @ x 3/4" ALL POINTS SOLID~SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:

A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETE~FLEX SS4 IS 1 3/4"%
FOR ZAMAC NAILIN ANCHORS IS 1 3/8": FOR ELCO PANELMATE ANCHORS IS 1 3/4"
AND FOR CF TAP—-GRIP ANCHORS IS 1 1/4"

A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO SHALL BE
PERMITTED. 1/4"8~20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO
sTucco.

A3) MINIMUM EMBEDMENT OF 1/4"@ x 3/4" ALL POINTS SOLID—-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4”" 0-20 S.S. MACHINE SCREW USED SHALL BE 1 1/2" LONG MINIMUM SHOULD
STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

A4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) &
A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
~ 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX (REGULAR OR 410 S.S.)
— 1/4" @ CRETE-FLEX 5S4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
— 1/4" @ CF TAP-GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU~FAST CORPORATION.
1/4" @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
1/4" @ x 7/8" CALK—IN ANCHORS OR ELCO mole & female "PANELMATE" AS MANUFACTURED
By POWER FASTENERS, INC. AND ELCO TEXTRON, RESPECTIVELY.
1/4" @ x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

|

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, CF TAP-GRIP AND CRETE-FLEX SS4 ANCHORS INTO CONCRETE BLOCK
UNIT SHALL BE 1 1/4"; 1 3/8" FOR ZAMAC NAILIN ANCHORS.

B.2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STUCCO SHALL BE

PERMITTED. 1/4"#-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO
STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4"@ x 3/4" ALL POINTS SOLID~SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" @~20 S.5. MACHINE SCREW USED SHALL BE 1 1/2* LONG MINIMUM SHOULD
STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B.1) AND B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 16 (SHEET 3 & 7 OF
15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS
PROVIDED BY THE JURISDICTION WHERE PERMIT IS APFLIED TO.

11. (a) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR
A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.L.

"(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS

PRODUCT BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS FPRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC FROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.O.R) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER

USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED IT.

12, SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL.
ONE ABEL SHALL BE PLACED FOR EVERY OFENING.

LABEL SHALL READ AS FOLLOWS:

EASTERN METAL SUPPLY, INC. .

WEST PALM BEACH, FL. )

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

PROPUCT REVISED

as complyingy with the Florida
Bulding Code
Acseptance Nog

Division

F.B.C.(High Velocity Hurricane Zone)

LG,
0.050" BERTHA ALUMINUM STORM PANEL ,
DRAWN BY:
4,/28/05
iLIEc o . EASTERN METAL SUPPLY, INC. | “5ir
4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMPANY
~ e S 8355 Nw. J6th, Si, Ste. 305, VIRGING GARDENS, F1. 33166 WEST PALM BEACH, FL 33407 05-078
coT - Phena, : (308)871—1830 . Fax ¢ (305)871-1531 DRAWING. No
fon . §WAL TEREa_OﬁLOLf 7? 7J-9 P E REV. NG DESCRIPTION DATE | AEV. Ne DESCRIFTION DATE
N T, . . — - -
FLORIDA Lic, § ‘44167 . LR s - ——] SHEET 1 OF 15




| 1.800"

15.119" (TOTAL WIDTH)

PLIC
AS AP) ASLE(Typ)l 500"

I———-———L? .000" (EFFECTIVE WIDTH)——————-1

1.500"

4.473" I

050"

L—Z 725'—L——J.875'——L—2. 725'-|

(1) ALUMINUM PANEL

1/4% = 1"

SCALE :

G 3" ANGLE BUILD OUT BRACKET

SCALE : /8" = 1"

4.473"

||

l 1.500"
|—2.250"—]

I
884 g.
L
-é oq“?—ﬂ:rrﬁ
I —it—.003"

© F°_1RACK

SCALE : 3/8" = 1°

9.119" (TOTAL WIDTH)
I—-s.aaa" (EFFECTIVE w;DrH)—I

_1.500" , 1.500"

4.473"

I—-.?. 125'—!

ALUMINUM_HALF PANEL
1/4" = 1

SGALE :

64 1 _1/4" MAX. B O,
" TRACK

SCALE ; 3/8" = 1*

.750*
.091*
1/4" 9 S. S, STUD ‘nyp, —1
RIVETED TO ANGLE
® 12" 0, ¢ N
Q2 ALTERNATE
. ] LEG LOCATION
8 1t
- SEE 1a
DETAL 1§
e
832"

SCALE: 1/2° = 1"

We
Ad

1/4" @ §. 5. STUD
RVETED TO ANG

& @ 12° 0.C

SCALE: 3/87

@.317"

EDGE OF (D

-

(OPTION TO

12)

COMPONENTS

|—.093"

3.000" Mox. 2.470"
2.470 .
» 470"
e = ]
i o v L
9% prns N & & 19 + T k
R N o d A
YO, ; | S &7 5
(e m : T AT ¥ B % Y 1
. 9 o .
8 Q;\q' By 8 A szse ,? —={j—-g75" . S §
b § . P .t Typ. N
~ ¥ i § si
- 075" % N § —l|-—.075" % S 5
Typ. N 075" ~
T
t 2.250" ‘L((
‘ 2.591"
2250 2.250* L %
2.591* 2501° ”
| @ “U” HEADER
[
@ _*h" HEADER @ 3* e o e e 1
SCALE ; 3/8" = 1 SCALE ; 3/8" = 1°
J80” — = 093" »
~aam i L 1/4" @ S. 5. STUD
190 r RVETED TO ANGLE
L . @ SPAGINGS SHOWN
s b ON" SECTIONS.
g
N Loy
~ . g
== S ol
% = Tl o9 ALTERNATE & |loeTal 1
g Alosse B L6 Lamnﬂ\i j :
R S T —_ !
T G- L—:.aaa'——J
1.950"
@ REVERSED "F” ANGLE TRACK @ _“F"_IRACK ANGLE @ .STUDDED ANGLE
SCALE : 3/8" = 1" SCALE : 3/8" = 1" ;t;:LJEr:EJA//;T. AL’L‘OY
3
3/16* 063"
ALUMINGM (3) 5/8”@ MOLES ¥ :J [-063"
PATE\ AT TOP LINE 7 3 f—094
|
T x——— - —é—— - — - O | —
L% - " s
! f ig
v 8 28
(2) 5/16" HOLES ______ ~ ; : - vy
AT BOTTOM LINE = Kg f
FOR 1/4"d~20x1" 0 083" f
$.8" MACHINE :
SCREW TAPCONS s
&— — - - - 9 : —| |—.050" or 060"
I

12" 1"
14"

f

@ ::IE” Zn l!~ LONG WALL PLATE

13 kex

J105-H154 Alum. ALLOY
SCALE ; 3/8" = 1*

LE _WASHER

Q«‘:}“’—‘E:”“;Z\JN\‘ _—
SEP 1 5 2005

SCALE: 3/16" = 1"

DETAIL 1: swo w/ pie cast zve

NICKEL PLATED WING

NUT

PRGDY
&:ﬁ Stk

Division

F.B.C.(High Velocity Hurricane Zone)

LG,

0.050” BERTHA ALUMINUM STORM PANEL DRAWN BY:
4/28/05
/ TMILIEC O ne \ EASTERN METAL SUPPLY, INC. | "3
4268 WESTROADS DR,
TILLIT TESTING & ENGINEERING COMPANY
R A A e M WEST PALM BEACH, FL 33407 05-078
58 e (aoin %0 e ¢ (SenyaR 1031
s R55‘0007T7 99 - V. DESCRETION DATE ] ALV, Mo DESCRPTON oATE ORAWING No
WALTER A, TILLIT Jr. P. E. - o =
FLORIDA Lic., § 44167 . A L W z =] SHEET 1A OF 15




L3
o

CONCRETE ANCHORS (SEE SCHEDULE)

— TOP TRACK

Af’
ax

(SEE COMPONENTS, SHEET 1A OF 15)

1 Min, Min.
o] o] [s] o]
If"‘;'__:_":_'"_}‘_':'_"l——;_-—‘r’_"r_'1"'1"__}"":'_'1__|—"_1"'T"1";—_"';_"T'_T""I_'"-T'_T_'I'_T__—I__I_—T_T"—“l__r"'l' T__'_I""I__T'"T"‘"_f-"f'_':"":
R
A A L
A AV Q
% v
(o)
3
iy
()
N S
() - y
TYP, 8
¥
Q
A\
i
&
=
2
(]
~J
A, A .
A A Lé
[aly
If
~J
©; = e @
- 3 CONCRETE ANCHORS (SEE SCHEDULE) 3" -
Max. Maox.
1 Min. 1 Min.

[—; 1/4” Mox. GAP

STORM PANEL TYPICAL ELEVATION

SCALE : 1/8" =

I"

1/4” Max. GAPAf l—

“— BOTTOM TRACK
(SEE COMPONENTS, SHEET 1A OF 158)

/m\/\/ﬁr\/\/m\}’\/%\/m\/m\/\ /TN

SECTION A-A

SCALE : 1/8" =

N

[N

C >0

S o S
SEP 1-5-2665—

Miami Daget Ebag)

Bivision

F.B.C.(High Ve/oc;'i‘y Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL | el

/ IILIECO INC. \ EASTERN METAL SUPPLY, INC. | "o

JLLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DR.

8355 N.W. 36th, St Ste. 305, VIRGINK GARDENS, Fl, 33166 WEST PALM BEACH, FL 33407 05-078
Phana : (308)871-1530 . Fax + (308)871-1831
WALEREa_aTLI)LOLtI;I? 7J9 P c REV. N0 DESCRIFTION DATE | REV. Mo DESCRIFTION DATE DRAWING No
X r. P. E - - -
FLORIDA Lic, f ‘44167 . et LA - ——{ sHEET 2 oF 15




CONCRETE ANCHORS
(SEE SCHEDULE) ~__

—

| 250~

POURED
CONCRETE

Q
L
REQUIRED <

- ]
Moax.

Cont,

=

W

y

- SEE SCHEDULE FOR
Min. SEPARATION
7O GLASS

”

POUREL

CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

A

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS
(SEE SCHEDULE)

AV

| ] I
| |
| =0
j -
ez A

o 7/8" x 3/32"
o QR Concrere iing wife
REQUIRED -] ® 12" 0. ¢ g
Q.
: | s
v | [

/)

Cont,

SECTION @ STUD

WALL MOUNTING INSTALLATION

SCALE : 3/8" = 1"

SECTION 1

NOTE : DETAIL OF SECTION ® STUD VALID ALSO FOR

WALL MOUNTING INSTALLATION — SECTION 2 (TOPR)

CONCRETE. ANCHORS

(SEE SCHEDULE) X E

g

POURED W
CONCRETE

J
#
|

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

1/4" 8-20 x 3/4
BOLTS W/ 7/8
3/32 wuvc NT @

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

1

POUREL
CONCRETE
OR CONCRETE
BLOCK WALL i
REQUIRED

=

CONCRETE ANCHORS +

(SEE SCHEDULE)

—

WALL MOUNTING INSTALLATION
SECTION 2

SCALE : 3/8" = 1"

E. D. = EDGE DISTANCE
(SEE _SCHEDULE ON

SHEETS 10 & 11 OF 15)

CONCRETE ANCHORS
(SEE SCHEDULE)

N

POURED W
CONCRETE

REQUIRED \

SEE SCHEDULE FOR
Min. SEPARATION ——

TO GLASS
| ) A
N\ A\
' v v
| é/4 #-20 x 3/4"
oLTS W/ 7/8% x

|

.;{J?O NG NUT @

POUREDA
CONCRETE

OR CONCRETE ®
BLOCK WALL Wi
REQUIRED

11

566"

CONCRETE ANCHORS
(SEE SCHEDULE)

==

Cont,

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

BUILD OQUT INSTALLATION

SECTION 3

NOTE FOR COMBINATION OF SECTIONS :

WALL MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SCALE : 3/8" =

7"

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED

CONCRETE L

REQUIRED \j

Hl

(Vi s 1Y

SEE SCHEDULE FOR
Min. SEPARATION ————

TO GLASS

7/8" x 3/32"
WING NUT ©

EVERY STUD
@ 12" 0, C

POURED—/

CONCRETE
OR CONCRETE

BLOCK WALL [

REQUIRED

D.

Max. PANEL LENGTH (SEF SCHEDULE, SHEET L) e —

— —< A4
=

CONCRETE ANCHORS

(SEE SCHEDULE)

BUILD OUT INSTALLATION
SECTION 4

SCALE : 3/8" =

1/4" 9-20 M. S.
W/ NUT @ 12" 0. C.

?@@?L’“T{ PW’EQE@

e

F.B.C.(High Velocity Hurricane Zone)

- 4 -

LG

0.050" BERTHA ALUMINUM STORM PANEL | ,elil .
4/28/05
/ TiLlEco mcx EASTERN METAL SUPPLY, INC. | 2
4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMPANY
6355 N, 36th, g ste, oo GARDENS, F1, 33168 WEST PALM BEACH, FL 33407 05-078
Phana : (308)871~1830 . Fox ¢ (30508711831
WALTEREi—OI?L‘ﬁ; 7‘19 o E REV. NO DESCRIPTION DATE | REV. Ne DESCRIPTION DATE DRAWING No
T -1 - - -
FLORIDA Lic. § ‘44167 1 OLD 037141 14728/05 3 SHEET 3 OF 15

SEP-1-5-2005———L-




CONCRETE ANCHORS
(SEE SCHEDULE) ~_

POURED W
CONCRETE

REQUIRED \

-
L_._..L\_

EIN

Cont,

1/4" 8-20 S. S. MACHINE
OOLT W/ NUT & WASHER
72n

SEE SCHEDULE FOR

Min. SEPARATION
TO GLASS

- 1" M/n.
Q %
¥
T N E
= N

SR e e e EEEESsS

f

—®

Cant.

—®

|
I
|
|
|
|
l
|
!
|
I
|

A
AV

|
|
|
|
|

\j

1/4" 8-20 x
BOLTS W/ 7/8

s

3/32" WING NU 7'

@ 12" 0 C

ALTERNATE
LEG [OCATION

POURED —/

CONCRETE

OR CONCRETE
BLOCK WALL W
REQUIRED

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS

(SEE SCHEDULE)

m

5007

7-1

J<—‘ Cont.

Min,

1" Min.

1/4" #-20 S. S. MACHINE
BoLT W/ NUT & WASHER
e 12

BUILD OUT INSTALLATION

= SECTION 5

E D =

EDGE DISTANCE
(SEE. SCHEDULE ON
SHEETS 10 & 11 OF 15)

SCALE : 3/8" = 1"

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS } E D \l

(SEE SCHEDULE)
POURED CONCRETE E\t |

REOUIRED ™~ Q. £o.

|
l

|
|
|
!
|
|
|
|
|
[
]
1
|
|
f
!
|
I
|

A
\V
Min. SEPARATION _()
TO GLASS |

|
' 7/8" x 3/32"
f WING NUT @
|

L —Arevery stup
@ 12" 0 ¢

\
|
|
|
|
|
|
|
|
|
|
|

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

|
INIE S

POURED CONCRETE ‘/

REQUIRED

)
CONCRETE ANCHORS / E D

(SEE SCHEDULE)

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 6

/8" = 1"

SCALE :

@é‘%’:@é\
SEP-1-5-2005 —

CONCRETE ANCHORS
(SEE SCHEDULE)
POURED CONCRETE \\1 |

REQUIRED —__

141

‘ ALTERNATE
LEG LOCATION

’ 1/4" 8-20 x

‘3/4 BoLTS w/
7/8" x 3/32"
WING NUT ©

‘ 12" 0. €.

|

I A
SEE SCHEDULE FOR
Min, SEFPARATION

‘ TO GLASS

I 1/4" 8-20 x
J/4" BOLTS W/
7/8" x 3/32"
WING NUT @

1 12* 0. C.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

POURED CONCRETE

CONCRETE ANCHORS
(SEE SCHEDULE)

- CEILING & FLOOR MOUNTING

SCALE

TALLATION — SECTION 7

3/8" = 1"

CALK—IN OR ALL POINT SOLID-SET
OR ELCO mala/femaie
PANELMATE OR CF TAP-GRIP

(SEE SCHEDULE)

POURED
CONCRETE

OR CONCRETE
BLOCK WALL

N

d

:

REQUIRED ’\
|
|
|
|
|

N\
¥

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

—

/ ’
POURED

CONCRETE

OR CONcrete @
BLOCK WALL

REQUIRED

W

\{HWL\

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

b

CALK—IN OR ALL POINT SOLID—SET
OR ELCO male/female

PANELMATE OR CF
(SEE SCHEDULE)

TAP—~GRIP

WALL MOUNTING INSTALLATION (D. M.)

— SECTION 8

SCALE : 3/8" = 1*

At ot

F.B.C.(High Velocity Hurricane Zone)

FLORIDA Lic, §# 44167

LG,
0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
4/28/05
/ liLlEco ... \ EASTERN METAL SUPPLY, INC. | “&
4268 WESTROADS DR.
TILL T TESTING & ENGINEERING COMPANY
o a St s 305, VIRGINA GARDENS, F1, 33168 WEST PALM BEACH, FL 33407 05~-078
Phone : (J05)871-1530 . Fox : (305)871 1501 "
£R-0006719 REV. MO DESCRIPTION DATE | REV. Mo DESCRIFTION DATE DRAWING No
WALTER A, TILLIT Jr. P, E. - o : -

4/28/05 3

2 -

“

SHEET 4 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE) \

POURED X
CONCRETE L
REQUIRED

CALK—-IN OR ALL POINT SOLID-SET OR
ELCO mals/female PANELMATE OR
ELCO male/female PANELMATE PLUS
I¢4 "0-20 SIDEWALK BOLT OR ©
\/1/4°8~20 TRUSSHEAD BOLT + +
(SEE SCHEDULE FOR SPACING)

CALK—IN OR ALL POINT SOLID~SET OR
ELCO mals/female PANELMATE OR
ELCO male/female PANELMATE PLUS

(SEE SCHEDULE FOR SPACING)

EXISTING /

GLASS )

TO GLASS

[
|
|
i
|
|
[
|
|
|
_lSEE SCHEDULE FOR |
Min. SEPARATION  |—

A

/4" 8-20 x 1" S.S.M.S.
W/ 7/8" @ x 3/32"

WING NUT @ 12" 0. ¢.

POURED /

CONCRETE

OR CONCRETE
BLOCK WALL Q
REQUIRED

E"V"‘—

CONCRETE ANCHORS J
(SEE SCHEDULE)

W, (0]7)

Cont.

POURED

CONCRETE
REQUIRED _\

SEE SCHEDULE FOR

[

|

|
Min, SEPARATION | —
TO GLASS :

A

[
1/4" 8=20 x 1" S.S.M.S. :
W/ 7/8" ¢ x 3/32"
WING ‘NUT @ 12770, ¢. ﬂ
|
i
|
|
|
|
|
|
|
|

POURED /

CONCRETE

OR . CONCRETE
BLOCK WALL
REQUIRED

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

SECTION 9

SCALE : 3/8” = 1

E. D. = EDGE DISTANCE

(SEE SCHEDULE ON

SHEETS 10 & 11 OF 15)

"

Il

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

"

CONCRETE ANCHORS
(SEE SCHEDULE)

SCALE : 3/8" = 1"

+ +
SIDE WALK BOLTS ARE 3/4"oxJ 32 *THICK
HEAD MACHINE SCREW W/LENG

AS PER NOTES A2 & B.2 (SHEET 1)

+ *
TRUSS HEAD BOLTS ARE 1 2"¢x 7/8"7'H/CK
HEAD MACHINE SCREW W/L

AS PER NOTES A2 & B.2 (SHEET 1)

1/4'8~20 SIDEWALK BOLT OR @

W/1/4°8~20 TRUSSHEAD BOLT + +

CONCRETE ANCHORS

(SEE SCHEDULE) \ £ D
L

&
POURED L N
CONCRETE
REQUIRED —\

POURED
CONCRETE
7/8"8 x 3/32" REQUIRED
/  WING NUTS @ 12" 0.C.

[ EQ. —-]U[— £Q.

250"
Max.

Ramamen : ) Cont.

I_SEE SCHEDULE FOR
Min. SEPARATION -
TO GLASS

|
|
i
SEE SCHEDULE FOR | _
Min._ SEPARATION |
TO GLASS |
J ;& ]
| Iy
|
) 1
i
] |
7/8" 8 x 3/32" |
] WING NUT @ |
EVERY STUD
| @ 12” 0. C. |
|
POURED |
CONCRETE |
OR CONCRETE i i
BLOCK WALL
REQUIRED

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS 7

7/8" 8 x 3/32"
EVERY STUD

WING NUT @-\

o—|

Cont.
ALTERNATE LEG

@ 12" 0. ¢

‘L[E

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

(SEE SCHEDULE)

SCALE : 3/8" =

SEP- I 52005 —-F>

"

LOCATION &
75“ f L TN
P POURED I)El,u_,
] CONCRETE '
) REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE)

0 CEILING & FLOOR MOUNTING

SCALE : 3/8" = 1*

EDGE OF
SLAB IF
APFLICABLE

F.B.C.(High Velocity Hurricane Zone)

LG,
0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
4/28/05

/ TILIEC O e \ EASTERN METAL SUPPLY, INC. | “&x

4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMFANY 4
8355 N.#, Jéth, St, Ste. JOS, VIRGINIA GARDENS, Fl, 33168 WEST PALM BEACH, FL 33407 05-078
Phone : (JOB)A71-1830 . Fox (305)871~1531
. £B-0006719 c REV,_ MO DESCRIPTION DATE__ | REV. Mo DESCRIPTION DATE DRAWING No
WALTER A, TILLIT Jr. P. E. - - -
FLORIDA Lic. § 44767 ; LT - - ~{ SHEET 5 OF 15




1 1/4" MiN,
PENETRATION TO
CONCRETE BLOCK 7\,

& 2" TO CONCRETE |

2"

a4

¥, @

4 A ’
: 4. ‘a
. / 9

\_ EXISTING

BRICK VEENER

MAX

POURED CONCRETE / ZI/4 "8x8" ELCO mole
OR CONCRETE BLOCK PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).

WALL REQUIRED

EXISTING
STEEL ANGLE LINTEL
AS APPLICABLE

I
L
[
¥

/\/ SEE SCHEDULE FOR

Min. SEPARATION
7O GLASS

"1 °1/4" MIN.

CONCRETE BLOCK
& 2° 7O CONCRETE

EXISTING
BRICK SILL

12" 0. C.

EXISTING
FLASHING AS
/ APPLICABLE

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

SCALE : 3/8" = 1

I
|
|
|
.
PENETRATION T0 :
[
|
f
|

”

o X
8
[
—II S
| oo
i I
| [
i b
| I
| Lo
f I
| N
f Il @
| /\, [
| [ |
| /\/ —
| I
| b %
| | S
! | S
l l 9
| | g
I I =
; | :
1/4" ¢~20 x 3/4" | | RN
BOLTS W/ 7/8"8x | | X
3/32" WING NUT @ { | 3
I |
| !
| |
[ |
| !
! f
! |
| !
| |
| J
1
|
|
|

Cont.

1

3 172"

Mox. Max.
EXISTING

BRICK
VEENER

1/4"0x8" ELCO male
PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

WALL MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS

(SEE SCHEDULE)\

CONCRETE ANCHORS

POURED

S
CONCRETE n
REQUIRED \J

EXISTING
GLASS

Min, SEPARATION

|
!
|
|
I
[
|
f
|
|
|
SEE SCHEDULE FOR || _
TO GLASS If
J

(SEE SCHEDULE)\

&
QX
§F —t=_
N
f
S
POURED N
Cont, CONCRETE
REQUIRED \

&

GLASS

EXISTING —‘“/"

I

Min. SEPARATION
| T0 GLASS

SEE SCHEDULE FOR

'-—{500’
-250"
Max.

Cent,

°

A

R I N N
<=

1/4" 9-20 x 1" S.SMS.
W/ 7/8" & x 3/32"
wwsf/ur e 12" 0. C

|
|
I

POURED —/

CONCRETE
OR CONCRETE |
BLOCK WALL &
REQUIRED "

Moax. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

W/ 7/8" @ x 3/32"
WING 'NUT @ 12" 0. C.

:
|
!
l
: DETAIL 2/7
!
|
[

1/4" @-20 x 1" S.SM.S.

4%

o0 0 D

CONCRETE

REQUIRED

[
CONCRETE ANCHORS _/~
(SEE SCHEDULE)

CONCRETE ANCHORS
(SEE SCHEDULE)

SECTIONS 14

SCALE : 3/8" = 1"

POURED —/

OR CONCRETE
BLOCK WALL o

L™ Mox. PANEL LENGTH (SEE SCHEDULE, SHEET )

INTERIORLY REMOVABLE PANEL
SIDEWALK BOLTS

CONNECTED TO THRU
HOLES AT @ 6" 0.C & FA

AT REAR W,

Dw/

EE DETAIL 2)

5/8%
STENED

7/8"8x3/32" WING NUT

@ LVERY SIDEWALK BOLT.

Gy

AL
Loog
M

F.B.C.(High Velocity Hurricane Zone)

FLORIDA Lic. § 44167

2 -

- 4 -

" LaG-
0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
4/28 /05
ILIECO e, EASTERN METAL SUPPLY, INC. | “ak
4268 WESTROADS DR.
ILLIT TESTING & ENGINEERING COMPANY
— ches T .J'dMTSf Ste. 305, VIRGINA GARDENS, F3, 33166 WEST PALM BEACH, FL 33407 05-078
: (105)871- 15.10 Fox : (I05)871~1531
EB-0006719 FEV. NO DISCRIFTION ATE | REV. Mo DESCRITION oAl DRAWING No
WALTER A, TILLT Jr. P, E. - XTI T - .

SHEET 6 OF 15




CONCRETE ANCHORS | E D
(SEE SCHEDULE ) N\
POURED CONCRETE I
REOU/RED —~— EQ. £Q.
N
! Q3

SEE SCHEDULE FOR

TO GLASS

—(4) cont.
{

U

|
|
|
|
|
|
I
|
!

-

7 ;

o

| |

]
|

]
|

‘{ Min. SEPARATION ]l'—

| |

!

|

|

|

|

|

!

-~

7/8° 8 x 3/32"

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

f
|
I
l
|
|
|
I
|
|
|
o
I
o
I
! 1
| f
.
oo
(.
o
[
.
|

[
|
l
!
|
!
|
l
|

WING NUT @
~EVERY STUD
@ 12" 0. ¢
O— |
Cont. J !
= -
o | l
N L
= ]
/_’/ /f " EDGE OF
POURED CONCRETE T ym ~—SLAB IF
REQUIRED 1 APPLICABLE
()
CONCRETE ANCHORS f )
(SEE SCHEDULE )

SECTION 15A

CONCRETE ANCHORS

(SEE SCHEDULE )

POURED CONCRETE

REQUIRED ~— £q.

|
|
|
|

T Min. SEPARATION
7O GLASS

t
|
|
l
|
|
|
ol
ISEE SCHEDULE FOR|
I
|

; E D

£Q. ~~

2507
Max.

C@m
O

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

7/8" @ x 3/32"
WING NUT @
[~ EVERY STUD
@ 12" 0. C.
: |
Cont. 1
=
8
/V / EDGE OF
POURED CONCRETE —SLAB IF
REQUIRED APPLICABLE
CONCRETE ANCHORS
(SEE SCHEDULE ) E D

SECTION 158

CEILING & FLOOR MOUNTING INSTALLATIONS

N
3

SECTIONS 15

SCALE : 3/8" = 1"

1/4"-20x1" S.S. SIDEWALK BOLTS,
W/3/4" SLOTTED HEAD, FIXED TO
INTERIORLY REMOVABLE PANEL
THRU KEY HOLE @ 6" oc.
W/ 1/4"-20 NUT AT REAR.

E3
S
_o§“
O
-

875" p— ©
438" »

INTERIORLY REMOVABLE PANEL (7)W/
SIDEWALK BOLTS (SEE DETAL 2)
CONNECTED 70 (1) THRU 5/8"8

HOLES AT@ © 6" O0.C & FASTENED

AT REAR W/ 7/8"0x3/32" WING NUT

@ 'EVERY SIDEWALK BOLT.

%%/AELE INSTALLATIONS VALID FOR_PANELS

WITH INTERIORLY REMOVABLE PANELS é;)

CONCRETE ANCHORS CONCRETE ANCHORS

A\

(SEE SCHEDULE ) E D (SEE SCHEDULE )
POURED POURED E D
CONCRETE K CONCRETE | ‘i
REQUIRED —\ 0. _IT _lr_ 0. REQUIRED _\ — ol £0
J AN
\ : :
| | =T | & t A
| | i 1 §,§ | { : : L
| [ I -
’ ; ! ll —{ : ) Cont. ‘ |' : : (:) Cont.
( | | | ’ _l l IL
| | I l (.
| L 3 | : : :
| | &
J SEE SCHEDULE FOR SEE SCHEDULE FOR | | ~
. ) | ] [ty in, . )
Win. SEPARATION : | : S Win_ SEPARATION . —~| =0 :
’ | . ] ‘ | | E
| 0 : 0 g
| ! | & 3
1 N : ' =
A¥ : : ]’ % ‘ DETAIL}2 | [ ﬁ
| N : Y :
| | | g T | &
I J | Q
| | o g | } : } g
7/8" 6 x 3/32" : : || t ( | [ g
WING NUT @ g
’ EVERY STUD f I ) 3 , ®\ { : : *
' ® 12" 0. C. | L ___@ X
[ | 7/8" ¢ x 3732 | | b =
L WING NUT @ | I
‘ EVERY STUD ‘\ | [
] Cont. L[ : : ‘ ® 12° 0. C. | L
ALTERNATE LEG s L N o
l ’—Z—‘ LOCATION ? L | i . l Cﬁo:n)t . : |
= ol ‘ N
W A EDGE OF | ALTERNATE LEG %, [ l I\
I (g ] SLAB IF LOCATION N |
L! ouReD I APPL/CABLEf _ L e ! J e

CONCRETE  cONCRETE ANCHORS
REQUIRED (SEE SCHEDULE )

V)
‘/T—E.D.—-J I :

POURED CONCRETE ANCHORS u

' CONCRETE
REQUIRED (SEE SCHEDULE )

SECTION 164 SECTION 168

CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 16

SCALE : 3/8" = 1"

AT REAR W,

USED JOINTLY

-t

L—ED.——!

INTERIORLY REMOVABLE PANEL @ w/
SIDEWALK BOLTS

CONNEGTED TO
HOLES AT @ 6" 0C

EE DETAL 2)

THRU 5/8"a
& FASTENED

7/8"0x3/32" WING NUT
® EVERY SIDEWALK BOLT.

F.B.C.(High Velocity Hurricane Zone)

» LG.
/ E D = /é'gof Dcls?éviz;;_ 0 0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
EE SCHEDULE ON
7875"\—:/ R SHEET 10 & 11 OF 15) 4/28/05
2 l"_ 'E C O n. EASTERN METAL SUPPLY, INC. DATE
—~ —.050" “T1/4" HOLE @ 6" oc. NOTE FOR COMBINATION OF SECTIONS : TESTING & ENGINEERING COMPAN 4268 WESTROADS DP.
. % - N TILLé:w ;‘;ﬁ,i’:;i;; ggg J,ggm f'gﬁé;,\;so EJIJJ,}} WEST PALM BEACH, FL 33407 05-078
= FLOOR/CEILING MOUNTING SECTIONS CAN BE 3:&&\ e g (9 e T T T T e DRAWING No
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. Ot I WALTER A TILLIT Jr. P. E. T U - -
T SEPT5 2005 FLORIDA Lic. § 44167 ; s Z - - = SHEET 7 oF 15




§ [L/4" Max. GAP

~-

1/4" Max. GAP

ol

N INTN TN N TN

SECTION B—-B

SCALE : 1/8" = 1"

R

@_ 148/6, _.’14A/6,
15,168/7 15,16A/7
(WHOLE) (WHOLES) 168/ 164/
BUT NOTCHED 1/4"-20x1" S.S.
EA CORNER @ SIDEWALK BOLTS.
5,35%4 AS [ SEE DETAILS 2/7,
, ‘ 2/15. ) (WHOLE)
INTERIORLY REMOVABLE PANEL () W/
SIDEWALK BOLTS (SEE DETAILS
5 2/7, 2/14) CONNECTED TO () THRU
D 5/8"8 HOLES AT () @ 6" 0.C &
N FASTENED AT REAR W/7/8"@x3/32"
- | - - WING NUT @ EVERY SIDEWALK BOLT.
A il MR v e 1 R ®
Tz
—~ ¢ or(9)or (O
14B/86, _.’ 14A/8,
15,168/7 15,16A/7
—3" CONCRETE ANCHORS (SEE SCHEDULE) 3"
Max. Max.
1 Min. 1 Min.

INTERIORLY REMOVABLE STORM PANEL
PARTIAL ELEVATION Y

SCALE : 1/8" = 1"

irodne Contigl

F.B.C.(High Velocity Hurricane Zone)

” L.G.

0.050" BERTHA ALUMINUM STORM PANEL | peisS .
4/28/05
Z liLleco .. R EASTERN METAL SUPPLY, INC. | "o
P 4268 WESTROADS DR,
C__;h—-—zi__:—im_‘@\ grg’g‘-gm 7};?;(2’0%; 55‘5 : ég%ggﬂ(%&%gg;ﬁm WEST PALM BEACH, FL 33407 05-078
) ane - . Fox : -
SEP 152005 WALTEREi—%“IJLoﬁ;’Ji b £ REV. MO OESCRIFTION oATE_| Rev to DESCRIFTION DATE ORAWING No
FLORIDA Lic. § 44167 . e L ] W - | swEer 8 oF 15




POURED CONCRETE
OR CONCRETE BLOCK

WALL REQUIRED 2% 3" x 083" 3105 H-14 OR MAXIMUM DESIGN PRESSURE RATING W’ (; D. s.f.) AND
e ¢ e | CORRESPONDING MAXIMUM PANEL LENGTH "L” SCHEDULE

CUT PANEL

CONCRETE ANCHORS —
/ e 12" 0. C 1.000"
.1 HALF PANEL > 1/4" G 1.000"
™~ 3 o —-'-

7T

N APPLICABLE TO
2" x 4" x 125" i 4 MAXIMUM DESIGN Mox. PANEL LENGTH
J105-H14 OR 6063~T6 ALLOY \ PRESSURE RATING L (f) MINIMUM SEPARATION ASECgfggg # cg
Cont. Alum. ANGLE N POURED CONCRETE W (p.5.f) (SEE SECTIONS) TO GLASS NY & m%ﬂ N
ING = v OR CONCRETE BLOCK '
CASE A (Plan) N +65.0, ~77.0 | 8'-0" OR LESS 2 1/4" 1 THRU 8
SCALE: 1/4" = 1” A +65.0, -77.0 | 9'-0" OR LESS 3 11/16" 1 THRU 8
CASE D Plan +65.0, ~72.0 | 9'-0" OR LESS 3 1/2" 11
SCALE: 1/4" = 1" . +62.0, -73.3 | 10’-0" OR LESS 3 7/8" 2,6 7&8
+63.5, =635 | 9'-0”" OR LEsS 3 1/2" 9, 14, 10
\ o
§ +65.0, -65.0 | 9'-0" OR LESS 3 1/2 12, 15, 18
\ VAR/ES 5” “ +65 5 63 5 [ [ V H
.5, —63. 9'~0" OR LESS 3 3/4 13
N7

OR @ POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

2.500" Min.
CONCRETE ANCHORS r

@ 12" 0 ¢ T~
N

POURED CONCRETE '
OR CONCRETE BLOCK N
WALL REQUIRED N

2" x 2" x 085" 10 / ALTERNATE LEG LOCATION

2" x 5 x .055" Cont.
Alum. ANGLE OR

080" 3105~H154 SHEET
METAL Alum. BENT PLATE

1/4" @ BOLT 4" x 4" x 072" ,
@ 24" 0. C, 3105~H14 OR B063—T6 ALLOY
W,/ JACKNUT Cont. Alum. ANGLE \( : )
CASE B (Plan) CASE C (Plan
SCALE: 1/4" = 1" SCALE: 1/4" = 1"

END CLOSURES DETAILS

F.B.C.(High Velocity Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL DRA‘;}? BY:

/ |||_|Eco ,.c.\ EASTERN METAL SUPPLY, INC. Y

4268 WESTROADS DR.

TILLIT TESTING & ENGINEERING COMPANY
w 6355 NW. J6th, St, Ste. 305, VIRGINIA CARDENS, f1, 33166 WEST PALM BEACH, FL 33407 05-078
—— T Phane ¢ (30587121530 . Fax ¢ (305)871~1531 DRAWING. N
D WALTEREBA_%ZGL?T? 1‘19 b E REV,_ NG DESCRIPTION ATE_ | AEV Mo DESCRITION DATE e
i B A . 3 r. F.ooL — - -
SEP 1 & 2005 FLORIDA Lic. f# 44167 L R AT M - — SHEET 9 oOF 15




FLORIDA Lic. # 44167

4

MAXIMUM ANCHORS SPACING FOR E. D, = J 1/2" w APPLICABLE TO
Dfmufgw REGULAR TAPCONS CRETE=FLEX SS4 ZAMAC NAILIN CALK=IN SOLID~SET CF TAP-GRIP PANELMATES PANELMATE PLUS 410 5.S. TAPCON Aigcggggll:ﬂgN mé%w-l_??ﬁ)
¥ al) T concrere] 7o wasowmy | 7o concrere | 7o wsenr |70 conares] 70 MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | T0 CONCRETE | 7o MASONRY | To CONCRETE| 70 MASONRY | T0 CONCRETE| 70 MASONRY | 70 CONCRETE| 10 ssomms OF THEM E D = EDGE DISTANCE
8" N/A N/A N/A 4~ N/A 8° N/A N/A N/A 5" N/A 3 172 N/A N/A N/A N/A N/A 1 (TOP)
12* 6" N/A N/A 10" 7 1/2" 12* 9" N/A N/A 12* 7" 1" 1* 12* 7 1/2" N/A N/A 1 (BOTTOM)
12* N/A N/A N/A 10" N/A 12" N/A N/A N/A 12" N/A 1 N/A N/A N/A N/A N/A 2 (ToP)
12* 6* N/A N/A 10" 7 1/2° 12" 8" N/A N/A 12* 8" 1 1 12" 7 1/2" N/A N/A 2 (807TTOM)
12* N/A N/A N/A 10" N/A 12* N/A N/A N/A 12" N/A 11 N/A N/A N/A N/A N/A J (TOP) ANCHORS LEGEND
12* 6" N/A N/A 10” 7 1/2* 12" 8" N/A N/A 12" 8" " m 12" 7 1/2" N/A N/A 3 (BOTTOM) Min,
‘ ANCHOR TYPE ANCHOR
12* N/A N/A N/A 10" N/A 12* N/A N/A N/A 12" N/A 1" N/A N/A N/A N/A N/A 4 (TOP) SPACING |
12" 6" N/A N/A 10" 7 1/2" 12" g N/A N/A 12" 8 " 1" 12" 71/2" | N/ N/A 4 (Borrom) Sonac /;/AEZZ?NG'F";fpfb%PTA;ﬁ%uﬁﬁr?%}Fﬁm&mrE ps,| 39
12* N/A N/A N/A 10" N/A 12* N/A N/A N/A 12" N/A 1" N/A N/A N/A N/A N/A 5 (ToP) CALK—IN 2.5
12* 6" N/A N/A 10" 7 172" 12* g" N/A N/A 12" 8* 7" 1m* 12" 7 1/2° N/A N/A 5 (ROTTOM) SOLID-SET 557
8 1/2 N/A 12" N/A 5 1/2* N/A 7 1/2" N/A N/A N/A 8 1/2" N/A 11 1/2" N/A 1" N/A 9 1/2" N/A 6 (TOP)
8 1/2° N/A 12" N/A 5 1/2" N/A 7 1/2" N/A 10 1/2" N/A 8 1/2" N/A 11 172" N/A 17°* N/A 9 1/2* N/A & (BOTTOM)
+63.5, —63.5| 7 1/2* N/A 11 1/2" N/A 5" N/A 7" N/A 10 1/2" N/A 7" N/A 10 1/2* N/A 10" N/A 8 1/2* N/A 7 (TOR/BOTTOM) | 9'-0" OR LESS
N/A N/A N/A N/A N/A N/A 12* " 12" 12" 12" & 6" 8" 12" 12" N/A N4 |8 (ror/sotTOM)| *
12* N/A 12" N/A N/A N/A 12* N/A N/A N/A N/A N/A 12" N/A 12° N/A 12" N/A 9 (T0P)
12" 6" 12" 12" N/A N/A 12* 9" N/A N/A N/A N/A 12" 1m* 12 7 1/2" 12" 7 1/2" 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A 12* 6" 12" 12 N/A N/A 12" 6" 12" " N/A NA -y Aé’,:%’?mﬂ *
12" 6" 12" 12* N/A N/A 12" 9" /A N/A N/A N/A 12" 10" 12" 7 1/2" 12" 7 1/2* | 10 (s0TTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12* 1 N/A N/A N/A N/A 13 (TOP)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" g” N/A N/A N/A N/A 13 (BOTTOM)
12* N/A 12" N/A N/A N/A 12* N/A N/A N/A N/A N/A 12" N/A 12" N/A 12" N/A 14 (TOP)
12¢ 6" 12" 12" N/A N/A 12" 9" N/A N/A N/A N/A 12* 1" 12" 7 1/2" 2" 7 1/2° 144 (5OTTOM)
12" 4 1/2" 12" 8" N/A N/A 12" & 1/2” N/A N/A N/A N/A 12* 8" 12" 5 1/2" 12" 5 1/2" | 148 (BOTTOM)
11 1/2* N/A 12" N/A N/A N/A 12* N/A N/A N/A N/A N/A 12" N/A 12" N/A 12" N/A 12 (TOF)
8 1/2° N/A 12" N/A N/A N/A 7 12" N/A 10 1/2" N/A N/A N/A 11 1/2* N/A 1" N/A 9 1/2" N/A 12 (BOTTOM)
ma/2* N/A 12" N/A N/A N/A 12* N/A N/A N/A N/A N/A 12" N/A 12" N/A 12" N/A 15 (ToF)
8 1/2 N/A 12" N/A N/A N/A 7 1/2" N/A N/A N/A N/A N/A 1 1/2 N/ 1" NA 9 1/2* N/A 154 (BOTTOM)
N/A N/A 3 1/2" N/A N/A N/A N/A N/A N/A N/A N/A N/A 3" N/A 3" N/A 3 N/A 158 (BOTTOM)
11 1/2* N/A 12" N/A N/A N/A 12" N/A N/A N/A N/A N/A 12* N/A 12" N/A 12" N/A 18 (TOP)
a1/2" N/A 12" N/A N/A N/A 7 1/2" N/A N/A N/A N/A N/A 11 1/2" N/A 1" N/A 9 1/2° N/A 184 (BOTTOM)
J N/A 4 1/2* N/A N/A N/A kd N/A N/A N/A N/A N/A 4" N/A 4 N/A 4" N/A 168 (BOTTOM)
&" N/A N/A N/A 8" N/A 6" N/A N/A N/A 6" N/A 6" N/A N/A N/A N/A N/A 2 (roP)
&" 5 1/2" N/A N/A 5" &" 6" 6" N/A N/A 6" 6° 6" §" N/A N/A N/A N/A 2 (BOTTOM)
+65.0, ~65.0 &" N/A N/A N/A 4 1/2* N/A 6" N/A N/A N/A 5" N/A 5 1/2* N/A N/A N/A N/A N/A 6 (TOP) 9'-0" 10 10'-0"
6" Ma N4 na | 412 | wa 6" A | 9120 | N 6" XY N/A N/ N/A N/A & (BOTTOM)
5" N/A N/A N/A 4 N/A 6" N/A 9 1/2" N/A &" N/A 4 1/2" N/A N/A N/A N/A N/A 7 (TOR/BOTTOM)
N/A N/A N/A N/A N/A N/A & 6" 12" 12" 6" 6" &” &" N/A N/A N/A N/A 8 (ToR/BOTTOM)| *
R AR T TS A S PN T 0 L T 3 e FBC.(High Velociy Hurrioane Zone)
(NOTE: Min, E. D. FOR CALK—IN ANCHORS S 2 1/2")
LESS TN N SAGIHG WOIEATER POR BASH s e TANED LSING FACTOR sHiLL NOT e 0.050" BERTHA ALUMINUM STORM PANEL |  pauem a:
FACTOR
ACTUAL E. D. | REGULAR TAPCON, 410 S.S. TAPCON, CRETE—FLEX SS4.| cark-in  |soLp-ser |oF ram—crie / IIL I E c o \ EASTERN METAL SUPPLY INC. 4/5%95
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. INc. ’ °
ST | TR ree conmy vest Pl SR 1. 33407 05-078
2 172" 71 50 - 50 A I Frene (JM).MI:,'BTg%dﬁF;;Q’ Compizies REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
2" .50 - - - SEP1 5 2005 WALTER A TILLIT Jr. P. E. ; OLD 03147 |4/26/05] 3 - -

SHEET 10 OF 15




MAXIMUM MAXIMUM ANCHORS SPACING FOR E. 0, =~ 3 1/2" % APPLICABLE TO
SECTIONS § & MAXIMUM PANEL
D.‘.'.ya‘IGN LIOAD REGULAR TAPCONS CRETE~FLEX SS4 ZAMAC NAILIN CALK=IN SOLID-SET CF TAP~GRIP PANELMATES PANELMATE PLUS 410 8.8. TAPCON ANY COMBINATION LENGTH "L* (R.)
*2t) I3 concRere] 10 wasonmy | 7o CORCRETE | 70 MASONRY | 70 CONCRETE | TO MASONRY | 70 CONCRETE | T MASONRY | T0 CONCRETE | TO MASONRY | T0 CONCRETE | T0 MASONRY | T0 CONCRETE | T0 MASONRY | 70 CONGRETE | T0 MaSony | 70 Concrere | 7o MASONRY OF THEM £ D. = EDGE DISTANCE
6" N/A N/A N/A J" N/A 6" N/A N/A N/A 312" N/A 2 1/2" N/A N/A N/A N/A N/A 1 {TOP)
12° 5" N/A N/A 10" 6" 72" 7 1/2" N/A N/A 72" 6" 9 1/2" g 1/2" N/A N/A N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 10" N/A 12" N/A N/A N/A 12" N/A 9 1/2" N/A N/A N/A N/A N/A 2 (ToP)
12" 5" N/A N/A 10" 6" 12" 7 172" N/A N/A 12* 6 1/2" 9 1/2" 9" N/A N/A N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 10° N/A 12" N/A N/A N/A 12* N/A 9 1/2" N/A N/A N/A N/A N/A 3 (T0P)
12" 5" N/A N/A 8" 6" 12" 7 172" N/A N/A 12" 6 1/2" g9 1/2" 9* N/A N/A N/A N/A J (BOTTOM)
+65.0, =77.0] 12" N/A N/A N/A 10" N/A 12* N/A N/A N4 12* N/A 9 172" N/A N/A N/A N/A N/A 4 (T0F) 9'-0" OR LESS
12" 5" N/A N/A 8" 6" 12" 7 1/2" N/A N/A 12" 8 1/2" 9 1/2" 9" N/A N/A N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 8" N/A 12" N/A N/A N/A 12" N/A 9 1/2" N/A N/A N/A N/A N/A 5 (ToP)
12* 41/2" N/A N/A bl 5" 12" 8" N/A N/A 10" 5" 712" | 712" N/A N/A N/A N/A 5 (BOTTOM)
7" N/A N/A N/A 4 1/2 N/A 5" N/A N/A N/A 7" N/A 5" N/A N/A N/A N/A N/A 6 (TOP)
7" N/A N/A N/A 4 172" N/A 5" N/A 9" N/A 7" N/A 5" N/A N/A N/A N/A N/A 6 (BOTTOM)
6" N/A N/A N/A 4" N/A 5 1/2" N/A 9" N/A 6" N/A 4 1/2" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 6" 12" 12" 12 6" 6" 6" N/A N/A N/A N/A 8 (TOP/BOTTOM)
6 1/2" N/A 12" N/A N/A N/A 6" N/A 9 1/2" N/A N/A N/A 9" N/A 9" N/A 7 1/2" N/A 7 (TOP/BOTTOM)
+65.0, ~72.0) N/A N/A N/A N/A N/A N/A 12" 6" 12" 12” N/A N/A 12" 8" 12" 8" N/A N/A 11 (TOP) 9'~0" OR LESS
12" 5 1,2 12" 10 1/2" N/A N/A 12" 8" 12* 12" N/A N/A 12" 9 1/2" 12" 6 1/2" 12" 7" 11 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 12" 12" 8" N/A 6" N/4 N/A N/A N/A N/A 2 (ToP)
&" 5" N/A N/A 6" 5 1/2" 6" 6" N/A N/A 6" 6" 6" 6" N/A N/A N/A N/A 2 (BOTTOM)
6" N/A N/A N/A 4" N/A 6" N/A N/A N/A 8" N/A 5" N/A N/A N/A N/A N/A 6 (TOP)
+62.0, -733| 5" N/A N/A N/A 4 N/A 5" N/A 8" N/A 5" N/A 5" N/A N/A N/A N/A N/A & (BOTIOM) |9°-0" 70 10'-0"
6" N/A N/A N/A 5" N/A 6" N/A 8" N/A 5 1/2" N/A 4" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 6" 6" 12" 12" 6" 6" 6" 6" N/A N/A N/A N/A |8 (Tor/B0TTOM) | *
‘ 1 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A 12" 12" N/A N/A N/A N/A N/A N/A N/A N/A 10 (TOF)
11 (TOP/BOTTOM)
PRODYCT REVISED
290 i the Florida
;’;
& 05-0924.03
ANCHORS LEGEND : 02 QB I8 [ Leog
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2“ EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" ANCHOR TYPE ANAé'/'-;bR W”M\,
REDUCE' ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS. SPACING ot Coatngd
(NOTE: Min, E. D. FOR CALK~IN ANCHORS IS 2 1/2")
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE REGULAR TAPCON, 410 S.S. TAPCON, CRETE~FLEX 554, 3.0"
LESS THAN MINIMUM SPAGING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. ZAMAC NAILING, CF TAP-GRIP, PANELMATE OR PANELMATE PLUS.
FACTOR CALK~IN 2.5"
ACTUAL £ D. | REGULAR TARCON, 410 S.S. TAPCON, CRETE—FLEX SS4, a
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK=IN |SOLID-SET |CF TAP~GRIF SoLib-SET 33 F.B.C.(High Velocity Hurricane Zone)
I .86 75 .78 1.00 " LG
212" K7 = — 0 0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
2" 50 - - —
. 4/28/05
/ iLlEco .. \ EASTERN METAL SUPPLY, INC. oute
4268 WESTROADS DR,
TILLIT TESTING & ENGINEERING COMPANY
- 6J’5L5LN.W. JL;fh. 8t, Ste, JO.E,GVIRGINM GARDENS, F1. 33166 WEST PALM BEACH, FL 33407 05 _07 8
Phone : (J05)871~1530 . Fox : (305)871-1531 DRAWING No
S N S 5 S W LTEREB—OﬁLOLls; 7‘/9 P E 9V, NO DESCRIPTION DATE | REV. No DESCRIFTION DATE
/A A r. P. £ T - -
SEP 15 200 FLORIOA Lic. § 44167 . U VZLI - = SHEET 11 OF 15




SEE SCHEDULE FOR
TO GLASS

SEE SCHEDULE FOR
Min. SEFPARATION
IO GLASS

A
AN - A .
1/4" 8 LAG SCREWS AN :
, ©6"0. C W 1 1/2" Mn. % 1/4" # LAG SCREWS
/ . THREADED PENETRATION / . @ 8" 0. C. W/ 1 7/2" Min.
/ - TO EXISTING WOOD HEADER, : THREADED PENETRATION
/ : TO EXISTING WOOD HEADER.
/ . % b
. X
¢ = —§ §¢ % = (S %3
; Tfrﬁi ¥ 5 83
% sa il § ! [ 1
2 ¥ ' L]
L/ - N.. .‘ l e :) Cont. %
/ L \ ¢
WOOD HEADER| 2O WOOD HEADER
REQUIRED I REQUIRED
Min. SEPARATION r—

1/4" @ LAG SCREWS
@ 6"0.C W 1 1/2" Min.
THREADED PENETRATION TO

b
21NN EXISTING WOOD HEADER.
; 0 cont.
[ 1/4" €-20 S. 5. BOLTS ©
# 12" 0. C. W/ NUT & WASHER
2 1
1 T I8 [Tmin. T % 2
L/ = fh &3
g 8\ 177
o~
4 l.,‘ L [~ :)
/ \ Cont.

x 4" PLATI
REQUIRED

2"

_@

WING NUT @
EVERY STUD @
12" 0. ¢

1/4" & LAG SCREWS
@60 C W

@ MIDWIDTH OF PLATE.

¥

SEE SCHEDULE FOR
Min. SEPARATION
10 GLASS

1/4'2-20 8.5~
BOLTS W/
7/8'¢ x 3/32"
WING NUT

EO EQ
—1

SONNNNANNNN]

2" x 4" PLAT:

REQUIRED

1/4" @ LAG SCREWS

&6 0 C W11/
Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE.

ALTERNATIVE 3

7/8" 8 x 3/32"

112"
Min. THREADED PENETRATION

l
|
|
|
|
|
l
JJ\,__ AL

¥

ALTERNATIVE 5
1TT

Max. PANEL LENGTH (SEE NOTES BELOW)
Max. PANEL LENGTH (SEE NOTES BELOW)

|
|
r

3 RO
|
I

1/4"6-20 S.S.
BOLTS W/
7/8"% x 3/32"
WING NUT

@ 12" 0 ¢

Cont,

WooD " STuD
@ 24" 0. C.
REQUIRED

1/4" 8 LAG SCREWS
@60 C W1 1/2
Min. THREADED PENETRATION
@ MIOWIDTH OF PLATE

ALTERNATIVE 6

SO NN ANANANANNNONNN

e

WALL MOUNTING INSTALLATIONS

SECTIONS A

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

WOOD HEADER
REQUIRED

TO GLASS

-

SEE SCHEDULE FOR
[=—— Min. SEPARATION —-

__ﬁ_é__ﬁ

Max. PANEL LENGTH (SEE NOTES BELOW)

-

ALTERNATIVE 7

SCALE : 1/4" = 1"

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
~72.0 psf AND PANEL'S LENGTHS UP TO 9'-0" EXCEPT AS NOTED.

2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE Na. 2, SURFACED DRY WITH
18 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55,

3. FOR_NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

433" 0, D, x .634" LONG BRASS
BUSHING W/ 1/4" 8-20 x

2"5 5 S M S. @ 12" 0. ¢
FOR SPANS UP TO 5'-9" AND

N NN NNNNNSNN

= ad

@ 6" 0. C. FOR SPANS UP
70 9'-0" Mox. OR 1/4"
#-20 ELCO male/female
PANELMATE ® 12" 0. C. W/
1 72/8" Min. PENETRATION
FOR SPAN UP TO 9'-0"

T

REQUIRED

WOOD HEADER

SEE SCHEDULE
FOR Min.

TO GLASS

|

l

|
SEPARATION T~

|

|
|
|
l
|
l
I
I
f
I
|

I

1"

5

Max. PANEL LENGTH (SEE NOTES BELOW)

B0

_IEQ_ £Q -

SMONN NN ANANANNSNANRN

[
|
!
|
|
l
|

wooD
PLATE
REQUIRED

L[ © MIDWIDTH OF PLATE

“[M— 433" 0. D. x 634" LONG BRASS
N BUSHING W/ 1/4" 8-20 x
2"5. 5 S. M. S @& 12"0. ¢
FOR SPANS UP TO 5'-9*

AND @ 6" 0. C. FOR SPANS UP
70 9'-0" Max. OR 1/4"

@~-20 ELCO male/fermale
PANELMATE @ 12" 0. C. W/

1 7/8" Min, PENETRATION

FOR SPANS UP TO 9'-0"

-

INSTALLATION DETAILS ON _EXISTING WOOD BUILDINGS

F.B.C.(High Velocity Hurricane Zone)

st
SEP 15 75 ]

L.G.

0.050" BERTHA ALUMINUM STORM PANEL DRAWN BY:
4/28/05
ILIECO nc EASTERN METAL SUPPLY, INC. | “3%
4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMFANY

6355 N.W. J6th, S, Ste. 305, VIRGINIA GARDENS, A1 33166 WEST PALM BEACH, FL 33407 05-078

Phene : (305)871-1530 . Fox : (J08)871—1531 DRAWING
WALTEREa__%IS‘L? 7_7 7J° o E REV. NO DESCRIPTION 0ATE | REV. No DESCRIPTION DATE No

X r. P, E - = -
FLORIDA Lic, § 44167 e 2] - - —1 SHEET 12 OF 15




WOOD TRUSSES OR RAFTER
@ 24" 0. C. REQUIRED
—\

3

- <§
EQ—FR-£Q
L LT Y 77777
— 1" x 4" x I/B"
Min. (6083~T15)
_5| AL Alurn.' TUBE W)
Y e Gyere
SN APS B e O 2
o 6" 0 C \ Cont. LOCATE SCREW
] | AT MIDWIDTH OF -
i EXISTING WoOD
l | l__® MEMBER (2" M/‘)n.
NOMINAL WIDTH
SEE SCHEDULE FOR faddl
—~] M:'n.r gf&gqsnon L | | % éq D7E{)2 Min.
—r— Al PENETRATION.
7/8" x 3/32" "@
WING NUT @ —| |
EVERY STUD " g"
@ 12" 0. C | 5/05060501(
I ?EOU/RED
NO FINISH
Cont. é—{ | ALLOWED)
!
\j
/ 7'—-] -
1/4'0 LAG SCREWS
© 4" o0c. W/ 1 1 /2 Min.

THREADED PENETRATION.

ALTERNATIVE 9

WO0D TRUSSES DR RAFTER
@ 24" 0. €. REQUIRED

(-

3
2

500" B EO——~E0—& 500 "]
L LA A T 7 7 77

SEE SCHEDULE FOR
Min. SEPARATION
10 GLASS

~~—1"x 4" x 1/8"
Min. (6063~75)
Alum, TUBE W/

() 518" 8'x 4"

LAG SCREWS T0

EACH JOIST.

LOCATE SCREW

AT MIDWIDTH OF

EXISTING WO0D

MEMBER (2" Min.

NOMINAL WIDTH)

W/ 2 1/2" Min.

THREADED

‘~ PENETRATION.

N, . —
v sty
" BOLTS
7/8"8 x 3/32" “@
WING NUT @ w_ an
2" x 8§
Wwoop DECk '
— REQUIRED [/
(NO FINISH A
ALLOWED)

- E 9,

i EO._LEO L

1/4% LAG SCREWS
@ 4" oc. W 1 1/2 Min.
THREADED PENETRATION.

ALTERNATIVE 11 )

CEILING & FLOOR MOUNTING INSTALLATIONS

SCALE : 1/4" = 1"

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

N
S
\I
%
SSNNISN

2" x 4" PLAT
REQUIRED

\—1/4" @ LAG

1/4"0-20 S.S.
" HoLrs w/
7/8"% x 3/32"

WING NUT
@ 12" 0. ¢

375

SCREWS @ 6" 0. C. W/
1 1/2" Min. THREADED
PENETRATION @ MIDWIDTH
OF PLATE,

ALTERNATIVE 12

VALID FOR Max. +63.5, —63.5 psf.

<

..@

7/8" @ x 3/32%

|

|

l

: WING NUT @
el

EVERY STUD @
12" 0 ¢

\2——-@ Cont.

1/4" 8 LAG

SCREWS © 6" 0. C. W/
1 1/2" Min. THREADED
FENETRATION @ MIDWIDTH
OF PLATE,

WALL MOUNTING INSTALLATION

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESH
=72.0 psf AND PANEL'S LENGTHS UP TO

2. NEW 2" x 6" P. T. TO BE SOUTHERN FINE No. 2, SURFACED DRY WITH
19 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55.

GN WIND LOADS UP TO +65.0,
9'-0", EXCEPT AS NOTED.

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL,

SEP 15 2005

SCALE : 1/4" = i
e Figride
e er 6. 03
?‘: L8/0 771008
%%m%égé\”
F.B.C.(High Velocity Hurricane Zone)
, L.G.
0.050" BERTHA ALUMINUM STORM PANEL RAWN BY:
4/98/05
ILIECO ine EASTERN METAL SUPPLY, INC. e
4268 WESTROADS DR.
555 T S s N o o COMPANY, WEST PALM BEACH, FL. 33407 05-078
. Phona : (305)871-1530 . Fex : (305)871~1531 DRAWING M
WALTmEi—%’?LOLf T7 7JQ P £ AEV. NO DESCRIPTION o478 | #ev. Na DESCRIPTION DATE e
FLORIDA Lic, 4 ‘44167 . e AT = ~——{ SHEET 13 oOF 15




& 1 7/8" Min, 2" EXISTING 1/4"8x8" ELCO male
PENETRAHOI}( f’ Max. | L[ BRICK VEENER PANELMATE TVAS ANCHORS N 1/4" LA
h @ 6 1/2"0.C. W/ 1 1/2" ' x "
\ Wi TAbrs Ve Z\ AN "| screws @ 6" 0. C.owy
—— 4" x 8" (Min.) EXISTING 3.500" INTO WOOD HEADER. % h 1 1/2" Min. THREADED
"} PENETRATION TO EXISTING
£ WOOD BEAM REQUIRED. RENETRATION ]
STRUCTURAL ADEQUACY . '
OF EXISTING WOOD = . 4 a
BEAM TO BE CERTIFIED S L/
BY REGISTERED ENGINEER 2 . L A
£Q OR ARCHITECT PRIOR — /= —_ : 38 L/ 15 R
/ TO SHUTTER INSTALLATION. —+T= — N_E [/ - i
{ S » . :
- L~ b3 / B I I 4] f
1/4"8 S.5. LAG SCREW — NE wooo 1 “ .
@ 4" 0 W 1 1/2" Min 1oRE HEADER—"] | | l_@ % ‘ ——(2) cont.
THREADED PENETRATION | | 2 Cont REQUIRED } : | | L o / 3 IR §
i
I N [_EX/sr/NG | | o S
| 45 appLicasLE ] woon peaver| | 8
| nO, N REQURED ) | __@ "
S I O g
SEE SCHEDULE FOR | o [l | | | | 2
Min_SEPARATION |~ | @ SEE SCHEDULE SEE SCHEDULE N
T0 GLASS @ | FOR Min. | | & FOR Min. || 4
SEPARATION ~—— SEPARATION
JL‘N—,_," S i TO GLASS ‘ ] S 70 GLASS : z
L G
ALTERNATIVE 15 I | 2
a ] W
< W ]
I : LA 5 A L Ny
: H Ay o= 2 o A
T T : i - < [ P
~ X 8
‘ 3 ! | l 3 exismne—"] | 1/4"0-20 5.5. 3
g [ | 2 GLASS | BOLTS W/
| . ~ | | 7/8"2 x 3/32"
" y g o 3 WING NUT
ee x 352 [ 3 : : : cort] | @ 12" 0. ¢
EXISTING N .
o, ST ) =0 e BRICK SILL | | |—-® . J_,// H O |
- X .
| WOOD ——— = g : |
PLATE | | | L
ALTERNATE LEG_ Cont; f — | | S )
LOCATION™\ , 1bs | T
At = = e e |1 g PNirs e
. ! : A
7 17 bin L L [ aicssis | | 2R g fc}f%@-ﬁn.s THREADEN,
2 A | [ 2" 2.4 PLATE PENETRATION @ MIDWIDTH
L I Min, x REQUIRED OF PLATE,
2°x 6 T 1 T S | 1| 9
WoOD DECK 1/4"8 5.5, LAG SCREW : | ]
REQUIRED e 4 7/2” 0.8, W/ 1 ]/2" Min, = !
(NG FINISH THREADED PENETRATION E0STING—""| |
ALLOWED) 2" x 4" STUDS
ALTERNATIVE 16 0 16" 0.C. Max. REQD ' / \' Cont. ALTERNATIVE 18A *
EXISTING Min. 1/2" PLYWOOD \-EXISTING
REQ'D (TYP) W/ FASTENING BRICK SILL [, /4" 6-20 x 3/4"

CLILING & FLOOR

1/4"#x8" ELCO male PANELMATE
TVAS ANCHORS @ 4 1/2" 0.C. TO
EXISTING PLYWOOD

MOUNTING INSTALLATIONS

SCALE : 1/4" =

TO STUDS AS PER
SECTION 2909 OF THE
SOUTH FL. BUILDING CODE.

ALTERNATIVE 17 *

¥ VALID FOR Max. +63.5, —63.5 psf.

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

U,

T

SCALE : 1/4" =

T

7”

BOLTS W/ 7/8'x
3/32" WING NUT
@ 12 0. C

NOTES:
1.

2

INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.
—~65.0 psf AND PANEL'S LENGTHS UP

NEW 2" x 6" P. T. TO BE SOUTHERN PINE Ne. 2, SURFACED DRY WITH
19 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55.

FOR _NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

TO 9'-0" EXCEPT AS NOTED.

0:

7”

V.

SCALE : 1/4" =

WITH_IN

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

A
/\ AN 1/4"  LAG
t ,' SCREWS © 6" 0. C. W/
L] , 1 1/2" Min. THREADED
% - PENETRATION TO EXISTING
¥ o/ WOOD HEADER.
¢ 2 o ¥
“ B -
% ) | W |
|1 . ;
N | : '—@ Cont.
IS el
WOOD HEADER) |
REQURED | l -—@
SEE_SCHEDULE || |
FOR Min.
SEPARATION ]
TO GLA
r— - A -
DETAIL 2/15

&
R )

O~

LXISTING
GLAS.

-

Max. PANEL LENGTH (SEE NOTES BELOW)

1/4"8-20 S.5.
| | doirs wy
\7/8% x 3/32"
WING NUT
6 @ 12" 0. C.
Cont,
77
[ o .
< .
L"‘% / . 1175"
g V1 X
M . \—1/4" ¢ x 3" LAG
% ‘| screws '@ 6" 0. ¢ w/
1 27/32" Min. PENETRATION
A @ MIDWIDTH OF PLATE,
A2" x4 pLatel ||
REQUIRED :‘. INTERIORLY REMOVABLE PANEL(D) W/
/] SIDEWALK BOLTS (SEE DETAIL 2)
% THRU 5/8"2

ALTERNATIVE 188 *

| CONNECTED TO
| . HOLES AT @ 6" 0.C & FASTENED
AT REAR W,

7/8"8x3/32" WING NUT
@ LVERY SIDEWALK BOLT.

¥ VALID FOR Max. +63.5, —-63.5 psf.

R
RLY

F.B.C.(High Velocity Hurricane Zone)
LG.
0.050" BERTHA ALUMINUM STORM PANEL |  palS
4/25/05
Z liLlEco ... \ EASTERN METAL SUPPLY, INC. e
4268 WESTROADS DR,
TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th, Si., Ste. JO5, VIRGINIA GARDENS, Fl. 33166 WEST PALM BEACH, FL 33407 05—0 7 8
Phane : (3088711530 . Fox : (JO5)B71~1531 ORAWING N
WALTEREi—%?LifIZ IJQ b E REV, NO DESCRIPTION DATE | REV. Mo DESCRIPTION 3 °
3 r. F. & - - -
FLORIDA Lic. § 44167 . A LA ] M _ —| SHEET 14 OF 15




4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.

-

1/4"8 S.S. LAG SCREW
@ 4" a.c. W 1/2" MIN. —|
THREADED  PENETRATION

+ ALTERNATIVELY, TRACK @ MAY BE ATTACHED
TO HOLLOW CEILING AS PER DETAILS SHOWN
ON ALTERNATIVE 9A, SHEET 13 OF 1A.

4" x 8" (Min.) EXISTING

1/4"8 S.S. LAG SCREW
@ 4" ac. WS 1/2" MIN.—
THREADED PENETRATION

WOOD BEAM REQUIRED.

£ £
STRUCTURAL ADEQUACY STRUCTURAL ADEQUACY
W OF EXISTING WOOD
1/4"0 S.S. 1A . BEAM TO BE CERTIFIED P — BEAM TO BE CERTIFIED
/4#°0 S.S. LAG SCREW BY REGISTERED ENGINEER 1/4"8 S.S. LAG SCREW BY RECSTERED NN
@ 4" oc. W/ 1/2" MIN. OR ARCHITECT PRIOR £Q Q @ 4" o.c. W/ 1/2" MIN. OR ARCHITECT PRIOR £ @
THREADED PENETRATION TO SHUTTER INSTALLATION. (-l-) , THREADED PENETRATION TO SHUTTER INSTALLATION. (-l-) / .
o [
N ] N
] N ‘g\a‘ 13
) N [ T I . fd [ I W '
- N —tp
| | - | ]
N | | © S Cont T | | O
3 N Cont, N \ S N Cont,
g | f & g | l 4
| 9 | S
SEE SCHEDULE S HED N
P § g =z || g g p R B g
oSG SEPARATION SEPARATION y XISTING SEE_SCHEDULE < SEPARATION 0
143 T0 GLASS u 70 GLASS | ! v Y FOR Min, y TO GLASS | | i
& a ™ SEPARATION ] -0 oy S
‘E‘ 4 LA | x T0 GLASS 5 . L1 =
— 1 = —— _ vy
Q [4.)
g DETAL 2 T g g . v a
. - ~ . g = : ) X
<
| E [ -@ g E [ ] 4
| —(1) X | l 5 | | =D y | — DETAIL 2 o
| g O~ | s L $ O~ g
l l ,/gn . ! | A—7/8" 8 x 3/32" I | A—7/8" 0 x 3/32" | | A—7/8" 0 x 3/32" 3%
| | vﬁc o j:{ 32 WING NUT © l WING NUT @ WING NUT © ¥
HNG NUT @ | EVERY STUD EVERY STUD | | &verr stup
| @ 12" 0 C. | | @ 120 ¢ cont. | [ @ 12" 0 C cant. "\ || @oc
{ ! ALTERNATE |} ALTERNATE |
Cont. —F H LEG LOCATION
7.1f5' | l-’i
x\ —i = X
]
> g > 27 . g" v e v
S T < W00D DECK L #oop Deck WooD ‘DECK Namsay, ioop Deck
el ——__| Reoure REQUIRED v . REQUIRED e REQUIRED
L INTERIORLY REMOVABLE PANEL (D) W/ / INTERIORLY REMOVABLE PANEL(Dw/ | Z ., )
" " " . SIDEWALK BOLTS (SEE DETAIL 2 1/4"% LAG SCREWS @ 2" o.c.
1/4°¢ LAG SCREWS @ 4 o.e./ 1/4"d LAG SCREWS @ 2" o.c. SIDEWALK BOLTS (SEE DETAIL 2 . “ CONNECTED TO THRU 5 aug W/1 1/2" MIN. THREADED PENETRATION
W/1 1/2" MIN. THREADED PENETRATION W/1 1,/2" MIN. THREADED PENETRATION CONNELTED 70 (1) THRU 5,/8"@ 1/4°0 LAG SCREWS @ 4 1/2" a.c. . /
' HOLES AT @ 6" 0.C & FASTENED W/1 1/2" MIN. THREADED PENETRATION HOLES AT @ 6" 0.C & FASTENED
- ' AT REAR W7 7/8"0x3/32" WING NUT AT REAR W] 7/8"#x3/32" WING NUT
© 'EVERY ‘SIDEWALK BOLT, © 'EVERY SIDEWALK BOLT,
TI 9 !?R@Eﬁ)@? RE%@@E&}
* _' " x 85 Compiyving wity the Florids
SCALE : 1/4" = 1 SCALE ; 1/4" = 1 siting Code

7
115

1/4"~20x1" 5.5. SIDEWALK BOLTS,
W/3/4" SLQTTED HEAD, FIXED O
INTERIORLY REMOVABLE PANEL
THRU KEY HOLE {2) @ & o.C.
W/1/4°~20 NUT AT REAR.

|

1
]

7/8" 8 x 3/32"

WING NUT @

@ 6"0 ¢ _B_\

L — I
b B l

§ - i
l e

L
I/l

i
750"

REMOVABLE
PANEL

NOTE FOR COMBINATION OF SECTIONS:

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION,

NOTES:

2.

3.

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—~65.0 psf AND PANEL'S LENGTHS UP TO 9'-0"

NEW 2" x 6" P. T. TO BE SOUTHERN PINE Ne. 2, SURFACED DRY WITH
19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55.

FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

E

F.B.C.(High Velocity Hurricane Zone)

L.G.

0.050" BERTHA ALUMINUM STORM PANEL | paisS .
4/28/085
/ TILIEC O e \ EASTERN METAL SUPPLY, INC. | "
4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th, St, Ste. 305, VIRGINA GARDENS, Fl, 33166 WEST PALM BEACH, FL 33407 05-078
Phana : (108)871-1830 . Fax + (J05)871-- 1851 DRAWING. A
WAL TEREa _ar%ﬁ ’? 'Jg P E REV. NG DESCRIETION TATE | AIV. ho DESCRIPTION AT o
o T,  E. - - -
FLORIDA Lic. f 44167 . e 2L - - — SHEET 15 OF 15




